penditure increases from 200 to 250 and nominal
900 to 1100, what are the new
K Marks|

(11) if government €x
money supply increases from
equilibrium income and interest rate?

QUESTION TWO

ment on the British economist John Maynard Keynes view,

Basing your argu
[15 Marks]

with appropriate diagrams discuss the demand for money.

QUESTION THREE

Using an appropriale diagram, discuss the circular flow of income

(@) _
concepl for a two_model sector econormy clearly outlining the real flow and
flow components. [S Marks]

(b) Derive the zgrg budpel multipher and describe its application in any given

[10 Marks]|

economy.
QUESTION FOUR
An economy is represented as follows:
Y=C+]1+G
C=4 + 0.95Y"
Y = Y-T+R-U-X
U=-43 + 0.15Y
X=31

Where ¥ = gross national product, T = Taxes, R=transfers, U= undisiributed
(" '3 - = - o - o ra et e o i,
profits, Yd= disposal income, I = Investment, G =government spending, X= other
iterns, the magnitude of which are independent of Y and which must le

. —

subtracted from Y to obmin'_hYd.

i | ’ - . ‘ : : . - - -, . - 44 =-..6.i‘. ":‘
&_.!L CIreascs "J\p [T 41) Lt Lr LiIleC S (r ) Icrecases bv LJ.'!! ) 4\) an 3 Inves tMmeant (’ ;
& ) | a SRRANS LiX QLI L2k ;i

e by LIED 20 wl '\l’ill bt" |
i e aSe by 21 20, wha th L-h;:“]pa PO A VOLE 3 -
respect to each ¢ 1D 2 £C In gross nationasl HOCUCT wiith
resped O eachn (,UIHPUUL‘H!: Show Youll W\'l‘king- 1 ‘ l
S .D .’u ar«s
fis) 531"‘5”(‘ "xl""“l b tween 'f » Clas n
AN Rl the Classical and Ca £ ! O
ASSICAL £ o mbnd X VIEWS O moneyv
u',.‘.{i?‘ilt-nl!'lk'.i ko -
! }.,1..
;} d.kai

{2 Dierive and plot the s  f
| 8548 LY ,)“ '-‘_|\;:- g fs{ fievmy & N &N P . .
1S IURCHON assuming at y
; UMING & (We $ectir modal

SCOOnY :
|8 Marks])
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INSTRUCTIONS

1. Do not write anything on this question paper.
2. Answer question ONE (Compulsory) and any other ta'o questions.

QUESTION ONE
(a) Distinguish between the following terms:
(1) Multlateral and bilateral trade. K Marks]
(i) GDP and GNP. AMarks)
(b) C=200+0.75yd.
[ =200 - 42-5r
G = 200
T =200
M = 0.5Y -100r (Real demand for money)
M# = 900 (Nominal money supply)

(1) Derive the IS and LM equation and find the equilibrium level of

income and interest rate B Marks)
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